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Section 1 - Paperl-English Lanquage
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1) What is the plural form of Sister-in-law?

A) Sister's-in-law
B) Sisteres-in-law
C) Sister-in-laws
D) Sisters-in-law

2) Find the most appropriate opposite meaning word:
CULPABLE

A) Liable

B) Immune

C) Responsible
D) Impeachable

3) Select the correct option.
The Rime of ancient mariner.

A) the

B) no article

(@]

)
)
)
)

a
an

o

Read the passage and answer the questions that follow:

A rainbow is a meteorological phenomenon that is caused
by reflection, refraction and dispersion of light in water
droplets resulting in a spectrum of light appearing in the
sky. It takes the form of a multicoloured circular arc.
Rainbows caused by sunlight always appear in the section
of sky directly opposite the sun.Rainbows can be full
circles. However, the observer normally sees only an arc
formed by illuminated droplets above the ground, and
centred on a line from the sun to the observer's eye.In a
primary rainbow, the arc shows red on the outer part and
violet on the inner side. This rainbow is caused by light
being refracted when entering a droplet of water, then
reflected inside on the back of the droplet and refracted
again when leaving it.In a double rainbow, a second arc is
seen outside the primary arc, and has the order of its
colours reversed, with red on the inner side of the arc. This
is caused by the light being reflected twice on the inside
of the droplet before leaving it. A rainbow is not located at
a specific distance from the observer but, comes from an
optical illusion caused by any water droplets viewed from
a certain angle relative to a light source. Thus, a rainbow
is not an object and cannot be physically approached.
Rainbows span a continuous spectrum of colours. Any

distinct bands perceived are an artefact of human colour
vision, and no banding of any type is seen in a black-and-
white photo of a rainbow, only a smooth gradation of
intensity to a maximum, then fading towards the other
side. For colours seen by the human eye, the most
commonly cited and remembered sequence is Newton's
sevenfold red, orange, yellow, green, blue, indigo and
violet, remembered by the mnemonic Richard Of York
Gave Battle In Vain (ROYGBIV). Rainbows can be caused
by many forms of airborne water. These include not only
rain, but also mist, spray, and airborne dew.

4) The mnemonic used for remembering the colour
sequence is

A) Richard Of York Gave Banner In Vain
B) Battle of York grieved Russells vanity
C) Richard Of York Gave Battle In Vain
D) Russell Of York Gave Battle In Vain

5) The color Red on the inner side of the arc is seen in

A) a double rainbow

B) the primary arc

C) a single rainbow
)

D) the 2nd arc

6) Rainbow is caused by the dispersion of

A) water droplets
B) the clouds

C) a light

D) a circular arc

7) In a black and white photo, a rainbow

A
B
C
D

looks grey

is invisible

uniformly black
looks dark and faded

— — —
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8) Rainbows can also be caused by

A) Infrared rays

. 1 @chofworld.

C) Airborne dew
D) Prism molecules in the sky

9) Find the most appropriate opposite meaning word:
RELINQUISH

A) Possess
B) Deny

C) Renounce
D) Claim

10) Select the correct form of verb from the given options.

Don't be so noisy. Radhika to study for her
public exam!

A) tries
B) is trying

0 o Techofworld.In

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

Section 2 - Paperl-Education and General Awareness
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11) As per Article 55 of the Constitution of India, the
election of who among the following shall be held in
accordance with the system of proportional representation
by means of single transferable vote?

A) The Chief Election Commissioner
B) The President

C) The Chief of the Army Staff
D) The Governor

11) QUESI ARG 2AGERe 55 AR I JQTERIR

681G FIRIFER AIQAIBR JEGTQ NI 2QAI6R FARQ KRR
GROR QRUAIg?

A) ggn BG19e aFiana
B) qugad@

C) 21 |l & g8

D) aigyaie

12) The function of NIEPA is Integrating educational
studies and researches under the area of

A) school and curriculum development

B) educational administration and curriculum
development

C) educational planning and administration
D) educational planning and curriculum development

12) 922IRad9a QY 6208 699 689 TR FVGS
2RIAE I9° 2AQARIAG IR0 QASI?

A) GQuiRe 99° QI0YgA S]I8
B) d@1616 941aa 9e° QI0Iga @8
C) dai9e 6aIea1 99° gaIa
D) dai191e 6QISR1 4e° AI0Ige G148

13) To reach high quality educational content to the most
backward areas using satellite communication, 32 DTH
channels have been made functional, under

A
B
C
D

Unnat Bharat Abhiyan (UBA)

SWAYAM Prabha programme
“Institutions of Eminence” (IoE)

Ek Bharat Shreshtha Bharat programme

— et T e

13) @9 g99aIa 3l SUYegYER AIESRIRG EAISIELT
FIRIFIEA AR0IQ U2 2ER6R 28R AIR, 694 AIIGH 2FER
32 T 6590 QYIEANg 99 GAILIRE?

A) QR0 QIR AWAIS (&)

B) qaq gel @Idiea

C) "an8g4aqQ 2T hearQ" (2IRBR)
D) 9@ 919¢ 659 QI9e QIige

14) Which of the following options is one of the purposes
of Ram Murti Review Committee?

A) Making the Operation Black Board Scheme of 1986
policy more successful

B) Suggesting measure for mid-day meal scheme
C) Developing programme for vocational education
D) Making primary education accessible

14) FANUQ 626S QN F AT AfTA 691G REQEY gmI?

A) 21066a% 1986 QIR 6916 JF| Q 2@ QTR GRS

B) friie 6RIee 6QIRRI ARl FUFS 9219

C) uniee d81 a9 QIdign SR8 @A

)
)
)
D) giefie daig 9o @64

Techofworld.In
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15) Which of the following diseases is generally spread by
mosquitoes?

A) Chicken pox

o T @chofworld

D) Typhus

15) 9g@R FIQ 629 6019 ARIQGS AISIF FII QuIT2N?

A) 21eg8
B) Soie
C) exdal ga
D) cigarq
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Section 3 - Paperl-Reasoning

Techofworld.In

16) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some profits are losses.
Some losses are shares.
Some shares are prices.

Conclusions:

I) Some profits are shares.
Il) Some losses are prices.
III) Some prices are shares.
I\VV) Some prices are losses.

A) Only Il follows
B) Only IV follows
C) Only | follows

D) Only lll follows

16) FeRGINRT: 067 TALIRLQI AR 987 @8 fad G2INRE |
2198 Q2NIRR! F1FIIG ASY 6QIR AIFAIG 989 LE G 9l
QARIREIER FEILR GANOIQ BiR cRHIAIREN | ANS Fadg A9
9e° GIU6e FeR FuRg, Gadeeel fad g GRES
ARMIREER FERSI A RN FQEYR! A12Ig OF NS
QAR 998 |

7129y 53 MR 6208 90 | 98 A0 6268 29 | A FENe
62@8 aaql |

fad:

) @8 MR 6IRE &R

) &% 96 6208 o=

) PF I 6TRE 2°6e |

IV) 88 o 62QE 96 |

A) 6a9q Il 29904 999 |
B) 6aae IV 29204 @ag |
C) 629 | 29204 99g |
D) 6aeq Il 29AQ8 993 |

17) What is the sub-triplicate ratio of 4913 : 68597

) 18: 19
B) 17 : 19
)17 : 18
)19 : 21

17) 4913 : 6859 @ AQ-GANERTY 2GS 6R63 62 ?

18:19
17 :19
17 : 18
19 21

18) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.

S is the father in law of P, who is a male. How is K
related to S?

Statement | : K has two daughters.

Statement Il : K is the father of P
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18) F6LEIAR1 FIRYS g46Q
1529 993 93 699 1294 | AIRINI6R 949 0aa FAIRANQE
|

2 990 @98, 98 6QeR 71894 || AL6UITES 49 28a TR
qIQE |

3, 96 Qud | 99° || 9260IS69 g4 Qe GaIKIR AIQE |
4, 9 949 aE6 696 & GaIKIR AIfe FIF |

S 6208 P @ g4, gea@q |

K Q2 S @ Qe @ ?

294 1 K Q Qub @21 28 |

71894 11 : K 6228 P QI

205.x
- BN W

19) If in a certain code language, FOLLOW is written as
HMNJQU, then how SECTOR will be written in the same
code language?

A) QCARMP
B) QGAVMT
C) UGEvVQT
D) UCERQP

19) @ 50Q Alwde AIFIE], FOLLOW @ HMNJIQU w@i6e
EASIIRE , G1626m SECTOR q 69 Qe AI6eTe QIlIsa
FOR 6AYER?

A) QCARMP
B) QGAVMT
C) UGEVQT
D) UCERQP

Techofworld.In

20) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All the arteries are organs.
Some bones are arteries

Conclusions:
1) All the arteries are bones.
Il) Some bones are organs.

A) None follow

B) Only | follows

C) Only Il follows

D) Both | and Il follow

20) FeR4GIANT: 06R FULIRIYSI 1814 deg @8 Fd FAARE |
IKdE TUAIRIQ ARG IS 6Q1R AIFQIg 96e 1838 G vgl
QARINEIER KR FAOIQ R 69IARAN | AN FIdG AL
48 GId6a G8A G2y, TUKIRYR F9d AUQ 696F ARIGEER
R€12JQ SR ALANNR SRR F12Yg OF QIES AGANE @98 |
F18QY: A9 2OR1 Jow JR10 2°6 | @8 216 6268 AaaT |

Gad:
) Qg AR QE@ 216 |

1) @F 219 6228 9919 &°G |
A) 6ql6d @09 QI

C) eaaq Il 2ga08 @92

)
B) 6aa@ 1 29204 @08
)
D) @@ | 9e” Il 29904 @0g

"echofworld.In
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21) Who said, "Education is a natural, harmonious and
progressive development of man's innate powers."

A) Froebel
B) Freud

C) Pestalozzi
D) Spencer

21) &4 Qdeem 64 "Gal 620F 880 ALFIT 939 99 gIgee,
QAeRISgE 9e° GAIGEIR G148 I

A) 6gi6an
B) 6geg
C) sagiemid
D) 52694

22) In context of Classroom rules, read the following
statements and choose the CORRECT option.

(i) When deciding on classroom rules, make sure that they
are easily understood, specific and behavioural.

(i) Do not include common classroom procedures in the
official set of classroom rules.

A) (i) is FALSE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE

C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (ii) is FALSE

22) 684192 GOF A0W6R, B7 299PT 993 1Q° A0 Feed
QI8g |

(i) 684192 Fon ARIRE KARI AAAER IFEE Aag 6d 6A9HR
A2R6R 9F 62929, Fad 621099 I° 2IPAd AT 621R8Q |

(i) 2AReEe cgdige Faf gee fusa ARIQE 684192
A859Ee 2age AT |

23) Which of the following statements is FALSE with
reference to Teacher-centered approach to learning?

A) Teachers are the main authority figure in this
approach

B) Teaching and assessment are viewed as two
separate entities

C) Student learning is continuously measured during
teacher instruction

D) Student leamning is measured through objectively
scored tests and assessments

23) GORYe FUQ 6RR P8R JYRl QIR d9e 6age QE6RIE
Q0e6a R (FALSE) 21687

A) 8 9B6RI950 9% CI84 gRISIQT 28T

B) d84 6 Ruee g 906 &a fia a°g Qa6 cadIAIRaI

C) dae §91 6991 AIL6R 81T @ JYal § I KUK Al
faiataIN]

D)gig 8gel @ @6edygd aoIed G RS RN
faIgIReI|

24) Input-rich communicational environments are

essential for language learning. Inputs include all of the
following options EXCEPT

A) News papers

B) Research material
C) Text books

D) Class libraries

24) Q9QC-agR 6QIGIEAINgE afcRsgEe Il dal QIR

AR | ARYCIPRER FIFRIQ ANS 2SRS g 69@0
ARG Q6%

A) HARRICF
)

B) cisesan aiqig)

C) a0y gQae
)

Techofworld.In
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25) When young children are made to play with mud, it
gives an exercise to their

A) auditory senses
B) olfactory senses
C) kinesthetic senses
D) visual senses

25) 60696967 97 JAIFIES QIR 6HRE, 12 CIFR 6°Q
geIa 2ud @A ?

A) god 2gee
B) g¥ 29@%
C) geaicia ages
D) gan 21g@é

26) NIEPA is an Institute established by the Government

of India dealing with management of education. What
does NIEPA stand for?

A) National Institute of Educational Planning and
Administration

B) Neo Institute of Educational Planning and
Administration

C) National Institute of Environmental Planning and
Administration

D) National Institute of Educational Phase and
Administration

26) Q2IRQd Q98 AeRIew IRl FII I0IReI faL QEQ!
0162 00 9@ AGAR! QAR (NIEPA) @'€ QEiM?

A) MIAFIN AETIR AT FERARIN QT 2E AIGFHIAR
B) 36 aadgig &g Igsadain Q&° 219 defifeadq

C) el Redgie 2T YRUINERIREILIR QIF° 2ig
2Iefideaaq

D) qyaqin aEQuq aIt 1g6eaarin 60 214 diefifeaas

27) Which one of the following teaching tactics is adopted
in Signal learning structure?

A) Help the leamer to generalize and build rule

B) Presenting chain before the students

C) Practise correct responses to the mastery level

D) Helping in discriminating one category from another

27) d99IR G99 Qrel6a AALe AU 608 JAIRIE AUINEY
g4 QQUAIRAN ?

A) SQigig 2INQE 8 FAA G0RER ARIAY FAR!
B) g1g& Qg816Q 4fe Q0IAe @8R!

C) 5966l 206 9@ A0 96391965 2o QAQl
D) 6915+ 6g4101Q 2GEFENR 609RIF6a ALY AR

28) Decreasing poverty, decreasing child mortality rate,
encouraging gender equality and increasing
environmental concern', are the positive effects of

Education according to which of the following
organizations?

A) WTO

B) UNESCO
C) UNICEF
D) WHO

28) QIRGQI 969, §¢ €194 2R QA9 ERT ARG § 69/2IRe
@3RI 6 AMNIRQ4 @ T2 AT QST FYRYS 1 @ 674 A°FOR
296Q 9l Q ARIAUND INIQ 26T?

A) WTO

B) UNESCO
C) UNICEF
D) WHO

echofworld.In
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29) Which of the following statements is INCORRECT
with reference to maximizing learning and teaching time

in a classroom? I

A) Lesson plans should be well-designed and they
should provide clear learning objectives for students

B) Write learning objectives, problems and examples on
the board, flip-chart paper, before the class begins

C) Have an organized plan if your planned lesson for the
day runs short or you need to fill time

D) Lesson plans should be fixed and followed very rigidly
under all circumstances for maximizing learning

29) 6841926@ YR1 1° PRSI AFIC APIRG| AREER FAFKIQ
6°% AR @R 263 ?

A) QIOIGRYER QANINER GRS AT AF6 1e° dYIEE
QIR AU A6 AT AUNEA YU RS |

B) 69411 2102 9AQ 24909 6916 296a ] FA-0I6 679 6a
Q6R4Y, 2GR 99° ARILE RS

C) 9@ Q6100 61991 QYR UF 6069 A9R IR IS CAIFR!

QAR AI0IFA @9 AGAN A QST NG Afdl
AR PRI A6Y |

D) rigeq @9IaQl iR A8 06EF6a dI0IgFIgee FaS 624l
QTC N9° 9LE R60IQ NIER AFANE FAULS! @SS |

30) Which among the following options CANNOT be
covered under the non-formal mode of education?

A) Small duration vocational courses
B) Special training for entrepreneurs
C) e-learning courses for academics
D) Hobby courses

30) S9IQ 6HINPRR URT 2R F6RIR MRIQ 699 0T
Q0A0ES 62RAGR FI?

A) 99 29| SRSIS TI0YGA

B) G649 GIRA QIR QEUISINIRE SR
C) 91GqrIes IR R-Ad° AI0Ige

D) 6dlgi® Q10499
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Section 5 - Paperll-Odia Language
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31) Q68T 99 J6Q FEATE 99 QI9Ee 66 OIf & IR
QF6ATE QRIAN ?

A) Geamy Qa1 G681
B) Gl Gesas

C) aquaq Q68946

D) Geala Qeaga

32) Gane 6165 526 /9 |

33) FORGE FUQ 69 6TIGI S JAIR FUAIE G6L ?

A) 2g8-3ge
B) aae-zaae
C) airy-go1
D) da-gda

34) F6RlI8 IR 696E RAATER A0S §R 6L ?

A) Q1o
B) agei@
C) goere
D) aeqle

35) ' GlI6ERY SRQ QUIR 60 2 FIRYS AR 6996 O adi2l
I

A) olea A4S

B) aencie

C) agnad

D) gena ag@

36) FOAGS FIQ 674 6011 AALAR FAIG IR QL8 ?

A) 996-999
B) sqien-Geaia
C) ge-2910
D) @ie-0@

37) GORYS FIQ 6a6E ‘YAY SRa AAIARIST SR7?

38) 21091 98 ' AYEQ' Q G2 e 8 629 ?

A) gige

Cc

)

B) aiGa
) 2@2a
)

D) agiga

39) QIFl 66115\ 691RI TR | 6RHIEE F95 69Q 65419 ?

A) 6599

C) eqan

)

B) ¢q @e
)

D) 656ada

40) ‘YURRRT 07 MIRAEQ 698 P8R J0F 62IRE ?
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41) ‘2209 LA QRTa a2 @8 ?

A) 6910 9!

%Mm Techofwol

R 4R

m

Cc

)6
)
)
D)

43) ‘2RI QAU QETR 22 9’4 ?

A) quel @all
B) gruaie @2l

C) 2 aoal

D) giic6a Rél IRIRS|

44) '9Q 9 995 679 gRIR QY GR ?

45) GORYe 99 (IQ FAUF Tea9E 99T 29 @9 |

A) aigiey
B) caugal
)
)

omss  Tachofworld

D) a1
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Section 6 - Paperll-Mathematics
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46) If A={1,2,3,6,8,10} and B = {4,59,12}, then ANB is

A
B

{1,2,3,6,8,10}
{1,2,46,9,12}

O

)
)
)@
D) {1,2,6}

46) 96 A= (1,236,810} 8 B = {45,912}, 656@ ANB 628

A) {1,2,36.8,10}
B) (1246912}
C)o

D) {1,2,6}

47) The ratio of two numbers is 3 : 4 and their H.C.F. is 6.
Their L.C.M. is

A) 72
B) 16
C) 48
D) 24

47) 9aF @°@e 2AQUIS 3 : 4 I9° 6T G.Alg. 6 |
64RITEE MAICLRE 4.

48) If the side lengths of a square are doubled then the
area of a square

A) increases by 8 times
B) remains the same

C) increases by 4 times
D) increases by 2 times

48) 4G Q96ALR UIda 636 T9dI0 29 6661 QUEHER 6RTR

A) 8 g8 98 aImag
B) aque gee

C) 4 g8 & aimaig
D) 2 g¢ @& QiR

49) What is the least number that leaves a remainder of
3, when divided by 5, 9, 10 and 207?

A) 73
B) 363
C) 183
D) 93

49) 5,9, 10 9&° 20 101 RIS FAUIGER N NTSEY QYR ASRE)
QY @67

A) 73
B) 363
C) 183
D) 93

50) Two sides of a triangle are 7 cm and 13 cm

repectively. If the perimeter is 27cm, then the third side is
equal to

A) 10 cm
B) 7cm
C)8cm
D)9cm

50) 9% 5@% @ QR QIg 97188 7 626 6 13 6QF 2651 9F ady
276241 2169, 6059 o1 Q19 Qde AP 2631

A) 10 6Qf
B) 7 eafi

C) 8 ead
D) 9 64
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51) In a square with side length 7 cm there is an inscribed
circle. In this circle there is an inscribed square. Again
there is an inscribed circle in this square. Circles and
squares are inscribed this way alternatively infinity times.
The sum of the areas (in sg.cm) of all these squares is

A) 98
B) 24.5
C) 176
D) 49

51) 661151 QE6TER QIZR 6T 7 6Q.F. 99° NTI FRIER IR 9A
20 62IRB1 9T 98 kIR I8 QCEEQ 2@Q 6TIRE| 2 U6
F QFieNgeR Y@ 98 2@C 6IRF 98 Ye° Qdeag YEAd
QIRER QA YR VNER AFS 62IRTI 9 AN 9T 63SR
6IQUTR (96 64£1.69)a ANF 6298

A) 98
B) 245
C)176
D) 49

52) If a student multiplied a number by 3/5 instead of 5/3,
what is the percentage of error in his calculation?

A) 64%
B) 48%
C) 24%
D) 68%

52) 9@ §66 818 605N Q°GIq 3/5 QGREE 5/36Q G418 Q6Q,
6969 O AR IER GTQ PGS 6R667

A) 64%
B) 48%
C) 24%
D) 68%

53)

P Q
In the given figure, O is the centre of the circle. PQ is a

tangent. PQ = 55 cm and OQ = 73 cm. The length of OP
is

A) 50 cm
B) 48 cm
C)45cm
D) 44 cm

53)

3 Q

QAR §268 , O 989 6@5 86T PQ 99 GYHI6SR, 2681 PQ
= 55 638 B8 0OQ = 73 64f. 6969 OP @ @9
2691

A) 50 6@
B) 48 6ad
C) 45 6ad
D) 44 safi

54) After simplification, the expression
2x - x(5 +y) + 3xy + 4(2x - y) simplifies to

A) Bxy+5x-4y
B) 2xy+5x-4y
C) 3xy+2x-dy
D) 4xy+15x-4y
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54) AARIRAE 6291 T6Q, ANRAE
2x-x(5 +y) + 3xy + 4(2x - y) Q ARG Qa 689

A) Bxy+5x-4y
B) 2xy+5x-4y
C) 3xy+2x-dy
D) 4xy+15x-4y

55) If Rs. 740 is divided into three parts such that second
part is ¥4 of the third part and the ratio between the first
and the third partis 3 : 5, then the parts are respectively

A) Rs. 340, Rs. 160, Rs. 240
B) Rs. 240, Rs. 100, Rs. 400
C) Rs. 400, Rs. 100, Rs. 240
D) Rs. 300, Rs. 100, Rs. 340

55) 9@ Rs. 740q 496 66 @I966 @I @GIKid 64, §910 @19
$O10 AUTR % 629 ¥49° GAA B GO VISR AGAIS 3 : 5 629
6069 ¥E QIgEes QaIgee

A) Rs. 340, Rs. 160, Rs. 240
B) Rs. 240, Rs. 100, Rs. 400
C) Rs. 400, Rs. 100, Rs. 240
D) Rs. 300, Rs. 100, Rs. 340

56) Profit of two persons are P and Q respectively in a
business such that the sum of 5% of P and 4% of Q is two-
third of the sum of 6% of P and 8% of Q. Then the ratio P
Q=

A)1:2
B)4:3
C)2:1
D)3:4

56) Q@Ed Q43 P ¥9° QFQ 6013 QILAAER AR AAAE
<76 69 P 2dia 5 96915 99 Q 2da ¥ gase P 2da 6 gode
49 Q 22Q 8 goEIoa ANTR YR-OIRrd| SI'626m P:Q=

O o >

)1:2
)4:3
)2:1
)3:4

=)

57) Area of a circular park whose diameter measures 77
cmis

A) 42125 cm?
B) 5607.5 cm?
C) 4878.5 cm?
D) 4658.5 cm?®

57) 77 627 QUId S8 9@ QEIRIAQ UIHe 6HSTR 6268

A) 42125 @6l 628
B) 5607.5 ad 6
C) 48785 ¢l 6Q@
D) 46585 G4 6af

58) Two numbers are respectively 25% and 40% more
than a third number. The ratio of the two numbers is

58) Q@6 Q@I $L1L A°IMIOIQ DRIIFEE 259 99° 40% 2|
698 QR AHIQ EQUIG 6208

A) 25:28
B)5:8

C)23:28
D)28:5

Techofworld.In
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59) If 2x/10 + y/5 =1 and 3x + 2y = 12, then the values of
X, y respectively are

)
v Techofworld.Ir

59) 9@ 2x/10 + y/5 =1 and 3x + 2y = 12, 666Q X, y @ ¢JmV
9IS

60) If A and B are two sets, then (AUB) " is

A)A'UB'
B)A'NB
C)ANB
D)A' N B'

60) 9@ A 8 B 62082 G 646, 6069 (AUB) ' 6208

A) A'UB'

Qm Techofworld.In

C)ANnB
D)A'NB
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61) Vande Mataram, was sung first time at the session of

the Indian National Congress held in

A) 1919
B) 1920
C) 1896
D) 1886

61) Q62 F119QF GAIF AR IR NUSTIS FITIA R°6FAR ZRJEIFER
i RQARRI IE LRICIIR adel e 2gde

62122 |

A) 1919
B) 1920
C) 1896
D) 1886

62) As per Indian Constitution, "To uphold and protect the
sovereignty, unity and integrity of India" is a

A) Fundamental Right
B) Fundamental Duty
C) Political Right
D) Civil Duty

62) RIGRIG AARIF QAN ‘RIRGA ALBAS), YRG! Ie°
AHES AT QYD 99° Al KA IR

A) &lae 2RI
B) &3 @aey

C) QIesdon ZjaIa
D) qIe8a aaey

63) Who among the following was the founder of Pala
Dynasty?

A) Narayanpala
B) Gopala
C) Dharmpala
D) Devpala

63) F6EIB TR CRIQ @4 TR ARER GRS 2em?

A) QRISEAIR
B) calaim
C) udaie
D) seqai@

64) Which of the following did Dr. Babasaheb Ambedkar
called as the ‘heart and soul’ of our Constitution?

A) Right to equality

B) Right to freedom of religion

C) Right to constitutional remedies
D) Right against exploitation

64) FEAIRAIGT TR 6RRTY 9RR AR ACLR 2IEIIND 2l
QARIIFQ "GO 9e° 2" VINER ATTE QEEN?

A) QAIRSIR 2RI

B) ufie qrieea 2e1a
C) arida gonea a3eia
D) 66196 G6RINER ZRFIR

65) Whose resolution of 1870 advocated decentralization
of power and formation of municipal government?

A) Lord Rippon
B) Lord Neil

C) Lord Michael
D) Lord Mayo

65) ereoo Adelka QPR 9 JAGQ FERLERE 9Q°
AO0LIRD ARG GO0 AVIQ A@I?

A) Qe Gag
B) a¢ 6aa)
C) a¢ AIReen
D) aE leal
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66) Which of the following inquiry commission was

instituted to look into the Jallianwala Bagh massacre by
the British Government?

A
B
c
D

Simon Commission
Hunter Committee
Simpson Commission
David Commission

—_— S

B6) 54 deRIw TRl FRNAIFGIN A1 GE LR Y92 FAR
I §6¢)I8 FIQ 69Q 002 RFFR F09 AQUAIRYRI?

A) AR *FE]
B) e4q a6

C) dsag efias
D) cele afiee

67) Which of the following subject studies the history,
culture and folklore of the Indian sub-continent?

A) Latinology
B) Greekology
C) Indology

D) European

67) GORNYS IR 699 UG WAGIG AU FZKE O eI,
QY 6 ARG YRR AUAL KRN

A) QIFeRIEMIRT
B) gieaismiet

C) qegiemial
D) geaidaiq

68) Who among the following is the Chief Spokesman of
the State government in India?

A) Speaker

B) Governor

C) Chief Minister
D) Chairman

68) FINYE F1UQ @ AR AARIA Q ¢S YIB! ASE?

A) geal

)
B) aiquaie
C) oy ag
D) 2am

69) Which layer reflects back the radio signal transmitted
from the earth?

A) Stratosphere
B) lonosphere
C) Exosphere

D) Mesosphere

69) 695 9@ YY1 9IQ 6900 6Q0Ia Aweqg JoTRe
@6 ?

A) 9661399
B) 2iger@oq
C) 6gi@aQ
D) ¢rsaidaq

70) What is the length of 1° of latitude (a one degree arc
of a meridian) at the poles?

A) 100.7 km
B) 111.7 km
C) 110.7 km
D) 115.7 km

70) 6619 PRCEQ 17 AVIPE Q M) 6R6S 6NN (FIGS 69HIR
1 @911 §aes)?
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71) Which of the following lines is also called a 'Great
Circle'?

A) Tropic of Cancer
B) Equator

C) Polar Circle

D) Meridian

71) FOAYE AR 694 6991g "92Q 99" QRIAN ?

A) @R0QI3
B) 3g< 6agl
C) engea

D) qude sasl

72) Which of the following countries launched first ever
Artificial Satellite to space?

A) United Kingdom

B) Republic of China

C) United States of America
D) Soviet Union

72) FARYE FIQ 699 694 2SR 60 YA 2 o7 AAYL NB
aoeml

A) 9RIREST @arer|

B) Gade ag |lag!

C) gRime6se 696 2 2RI
D) 81090 g&Faq

73) What was the main aim of Agenda 21 adopted at the
'Earth Summit' in the year 19927

A) Protection of endangered species
B) Sustainable development

C) Economic decentralization

D) Eradication of poverty

Join Us-

73) 1992 a1l goje1 d%e AFRA1ER ged
QAUCRIRYS! 215 QISR I Q624G A4l RI?

A) G4 919 gRIGa 9eal
B) uiagia e

C) 286569 Q69
D) ai8@y 9a1ead

74) Name the atmospheric layer placed between
Stratosphere and Thermosphere?

A) Troposphere
B) Exosphere
C) Tropopause
D) Mesosphere

74) Y6SRBA 99° 26FIRAR F6R YR FIGALRR AR Il
Q€

A) 6gisa@aa

C) 65160108

)

B) weg@aa
)

D) srieei@ee

75) In the history of India, which among the following
animals was declared extinct in the year 19527

A) Nicobar Pigeon
B) Asiatic Cheetah
C) Desert Fox

D) Gangetic Dolphin

75) RI0ea adeia6a, 1952 Adgka FRHe AUQ 64 gIg
Aqd 6QIR 68188 @AY IRLIRI?

A) GerIRIa ARl
B) «da Go
C) ag qaie
D) qieera eade

Techofworld.In
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76) Read the following statements and choose the
CORRECT option.

(i) Mitochondria are called the power house of the cell.

(i) Usually the Red Blood Cells contain thousands of
mitochondria.

A) (i) is FALSE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (i) is FALSE

76) G Q890a Jeg 6 A0k Qae 998 ¥9g |
(i) TIRESIRE2 @ 6R1TR 9D 699 FRIAN |

(il) ARICEISE TG 02 FTRIER 2FIQ LRIQ AIFESIRERI 2 |
A) (i) 6208 9@ G (i) 6298 R
B) (i) 6208 @m 6 (i) 6298 Ox
C) (i) 6298 0% G (i) 628 OR
D) (i) 62a@ 0@ G (i) 6208 gN

77) The average energy consumed by a human being in
aday

A) 2400 x 10”6 cal
B) 2400 kcal

C) 240 cal

D) 24 cal

77) 964 942 IR 6915 GREQ QA 62Q2R VLR 98 6208

A) 2400 x 1076 cal
B) 2400 kcal
C) 240 cal
D) 24 cal

78) To prevent the loss of water, the epidemmis of thick
waxy leaves contains which among the following, that is
usually absent in the roots?

A) Pith
B) Sap
C) Cuticle
D) Cortex

78) @% 99 6QIG9 TI9, 671G AL @F aga 1Teda 6w
FIPUQ 699G 2N ATl ARINEIFE 6906 2GATE 2II?

A) agl
B) aa
C) ea@
D) 6a160g

79) The relation between Y(Young's modulus of

elasticity), n (Modulus of rigidity) and B (Bulk modulus of
elasticity) is

A) 97Y = (3/n) + (1/B)
B) 1/Y = (1/3n) + (1/9B)
C) 1/n = (1/B) + (1/Y)
D) 9/Y = (1/n) + (3/B)

79) Y(@oe 95 219e 98IE ), n (9ee1a géiIw) e B (4G
QIURQ0 2R G9IR) FI6Q Ate 6aaf

A) 9/Y = (3/n) + (1/B)
B) 1/v = (1/3n) + (1/9B)
C) 1/n=(1/B) + (1Y)

D) 97v = (1/n) + (3/B)
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80) A piece of ice (heat capacity = 2100 Jkg' °C-' and
latent heat = 3.36 x 10° J/kg) of mass m grams is at-5 °C
at atmospheric pressure. It is given 420 J of heat so that
the ice starts melting. Finally when the ice-water mixture
is in equilibrium, it is found that 1 g of ice has melted.
Assuming there is no other heat exchange in the process,
the value of m is

80) 9GQ¥e Q106 -5 6965 CII6Q MR AgQ G8a e
QAT ¢4 (910 FAGI= 2100 Jkg* *6QA6CFR" 99 QY B1d =

3.36 x 10° J/kg) Q@8 | 92Ig GaRIRR! AIR 420 J oF gead
@QUTRII 6ITER 6I6CERER SAT- TR Fgd AFRE 62
6965696 6QHITNI 1 GIF QAT GaRE | A1690ag I gF6a
24 67163 1T 2R 62IRAIT, 6569 MA ARY 6268

A) 8
B) 10
C)6
D) 4

81) In a typical eukaryotic cell, during the process of
karyokinesis, at which stage does the nuclear envelop
develops around the chromosome clusters at each pole
forming two daughter nuclei?

A) Metaphase
B) Telophase
C) Anaphase
D) Prophase

81) @ ARIQE GRIFGBTR 621867, AIREREAA 9Tl AN6S,
62 JUYIA6R J694R 601N FRTER 63I6716EIF §Ra SIRINEa
QIFC 2GR FRIE 62IRAN ATl FIN 9RG J¢ QuR FaIR
99q?

A) gR1QIeTre

)
B) cocnicara
C) aigieers

)

D) egiecra

> Techofworld.In

Berana s verus

82) What does algae use to collect photosynthetically
active light during the process of photosynthesis?

A) Chlorophyll a
B) Ribosomes
C) Mitochondria
D) Centriole

82) ZIR6T 2ERT °6qIE JQGl ANAEQ D ML QG
Zlene 64T a8 2enIa YT AR |

A) 6QIEQITR 9
B) Qiasiesis
C) aipsciadal
D) sagdam

83) Which of the following reactions is an example of
reversible reaction?

A) Reaction between sodium hydroxide and hydrochloric
acid
B) Reaction between sodium chloride and sulphuric acid

C) Reaction between silver nitrate and sodium chloride
D) Reaction between red-hot iron and steam

83) GaFkIQ 696 95T 6208 e 9o 9oeaI?

A) 6AITRA TRSRITING B TIRCTIERIAR B¢, F1216a RGN
B) 6280 691106 8 ARTITR A, FI6A 95T

C) dnea 19696 8 6AELF 690G Fusa geaal

D) @ Q2! 6 Q19 f16q goael

84) Which of the following substances can be prepared by
heating gypsum?

A) Sodium hydroxide
B) Baking soda

C) Bleaching powder
D) Plaster of paris

Techofworld.In
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84) F0a0q CaF @A HYAUQ 694 091d F2IR FAITIRAIFG? 86) Y@ JQRF QU] Y9 ARY ATIBAUR AUAER 72 & F./a

69968 96 @gE| 9T QY Y° FIYA IR §R AFER GaIF

A) 6QBAA FR6ERIFINS 0.5, 6562 2RI RYIQ 26& AT ART 90| 6208 (9, g

B) gadar carel =10 m/s?)
C) 35 Q19ea
D) qiaq 2 ayda A) 40 m
B) 72m
C) 30
85) The potential energy of a certain spring when m

stretched through a distance S is 10 joule. The amount of D)20m
work (in joule) that must be done on this spring to stretch
it through additional distance S will be

A) 60 J 87) The latent heat of vaporisation of a substance is
always

B) 20J

C)30J A) less than its latent heat of fusion

D)10J

B) greater than its latent heat of sublimation
C) equal to its latent heat of sublimation

L D) greater than its latent heat of fusion
85) 61606R6W 1@ ud Jal @ S QOLI 690 SN, 646066R

¥2IQ 800 9@ 6208 10 gl 12 9t @ 2699 S gosl adie

SI8Ql Bri6e QG 62agal QIY (GRER)R AGAIE 6268 87) 4@ 9QIga QI¥19ede 49 QI Ag A6

A) 60 J A) 9210 98 G SIF 0IQ 96
B)20J B) Gcariaa 9g o0 0IQ 2y
C)301J C) Qeariea 99 910 92 QIR
D) 10J

D) w219 9ade 98 91K 019 21

86) Consider an ambulance van moving along a straight
horizontal road with a speed of 72 km/h. If the coefficient
of static friction between road and tyres is 0.5, the shortest
distance in which the ambulance van can be stopped is (

88) Streptokinase produced by the bacterium
Streptococcus is generally used as a

s A) Immunosuppressive agent
= 2
Given, g =10 m/g) B) Clot Buster
A) 40 m C) Blood-cholesterol lowering agent
B) 72m D) Sugar lowering agent
C)30m
D)20m

88) 686N QUIERE FIQ BUIR 6292< 6LEYRERD
QARIIASISS QAT NFTIA AQIAI |

A) agierasgda weae
B) g5 eaa
C) 096a 6aI6RER @AIAQ 6T

TeChOfWO rl d - I n D) 66ql @ClIRQ! 96899
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89) Which of the following plants is an example of
Epiphytes?

A) Prickly Water Lily
B) Tiger Orchid
C) Date Palm

)

D) Pineapple TeChOfWO rld - I r

89) 3¢ ARLgER AIQ 6096 YITIRY @ IR ALILE?

A) Gaf I AR
B) cioga 26@
C) sigen o8

D) agaiag

90) Terramycin drug is an antibiotic obtained from which
of the following microorganisms?

A) Streptomyces Ramosus

B) Streptomyces Aureofaciens
C) Streptomyces Fradiae

D) Streptomyces Venezulae

90) 65QIINER G0 6298 @ 2GR IRl FIAUIQ 699
gRL1e 01 AFeI?

A) 68301099 QU6¢1199

B) 63901099 2Q6YId9e
C) eadn1eda 6g&

D) 6gdriada casagm
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Question Paper No: 53633 71

Answer Key

i B 3kl¥ 6l:C
2. B 32.B 62.. B
3. D 33.C 63.B
4. C 34. A 64. C
5. A 35. A 65D
6. A 36. D 66. B -I
7. B 37.D 67. C
8. C 38.C 68.C
9. D 39. A 69. B
10. B 40. D 70. B
11.B 41. A 71. B
12. C 42. A 72. D
13.B 43.B 73. B
14. A 44.C 74. D
15.C 45.B 75. B
16. D 46. C 76. D
17.B 47. A 77. B
18. B 48. C 78. C
19. D 49. C 79. A
20. C 50. B 80. A
21.C 51. A 81.B
22, C 5Z2.A. 82..A
23.C 53. B 8¥W
24. B 54.B 84.D
25:C 35.8B 8C
26. A 56. B 86. A
27. A 57 [DJ87. D
28. C 58. A 88.B
29.D 59.B 89. B
30. C 60. D 90. A

a » f
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